Homework 4.72 hint
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2. Find the roots of 
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 and list in tables.

3. Compare your results (大學部) of the drop with Table (
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4. For ball-like problem, position is given as
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5. Normal vector is given as 
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, where L is the length and is equal to 
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6. Plot the determinant or minimum of singular value versus ka. Find the drop value (ka) and determine value k. According to the given formulae, please find the f and compare it with the table of homework text.

7. Check there exists the spurious eigenvalue (假根) or not.
8. Add your source points and collocation points, and observe the difference.
9. Change the position of source points (outer and inner) , and observe the difference.
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